Frames and Hardware




Frames and Hardware

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 B 1039365-NLA | NLA - Frame, Side with Hardware, Chrome - Right 1 1
1 B 1039366-NLA | NLA - Frame, Side with Hardware, Chrome - Left 1 1
1 B 1039363-NLA | NLA - Frame, Side with Hardware, Black - Right 1 1
1 B 1039364-NLA | NLA - Frame, Side with Hardware, Black - Left 1 1
1 A,B |8881039367-NL | NLA - Frame, Side with Hardware, Color - Right 1 1
A
1 A,B |8881039368-NL | NLA - Frame, Side with Hardware, Color - Left 1 1
A
2 1004170 Screw, Socket Head (1/4-20 x 1-1/2") 1 1
3 1015390 Guide, Seat 1 1
4 E 1019930-NLA | NLA - Insert, Threaded 1 3
5 C 1010810 Bearing, Flange (7/16") 1 2
5 D 1006049 Bearing (7/16") 1 2
6 57768X030-NLA | NLA - Sleeve, Aluminum 1 2
7 1027095 Plug Button, Black (7/8") 1 1
8 16348X000-NLA | NLA - Rivet (3/16 x 7/16") 1 1
9 16347X000-NLA | NLA - Washer, Nylon (3/16 x 7/16 x 1/8") 1 1
10 7930364-NLA | NLA - Package, Locknut (1/4-20) 25 1
11 1029501 Plug Button, Black (1") 1 1
NOTE: A - Specify frame color, see page titled "Frame Finishes and Upholstery Colors"
B - Includes items 2-11
C - Before 5/89
D - After 4/89
E - Part #1019930 is no longer available as a service part individually. See item 1 and order a Side Frame w/ Hardware as a

replacement.




